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#include <stdio.h> #include <stdio.h>

mint main( ) int (main( )
{ {

int ans; int ang = 0;
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#include (stdio,
int main( ) {

@ int ans; oo 4 ansE MOISITH,

i
=
=
} -

_ D
=
=
O
=
=
=

A
+3

[HE]
52% [EX 5]

A . e
=8 4 =38 7

#include <stdio.h> #include <stdio.h>
int main( ) int main( )
{ {

int ans; int ans|= 0;
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#include <stdio.h>

int main( )

{

@ int ans;

® for (int i = 0; 1 < 5; i++)

® deie (lakete ) = iE il 2= 5 :|++)
(4] diE (== ||| fda== ans++;
® printf("%d", ans);

® return 0;

}
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#include <stdio.h>
int main( )

{

@ int ans

® for (int 1 = 0; 1 < 5; i++4)

(3] for (int j = 0; j < 5; j++)
(4] Gt (== | |F itg==4) anst+;
® printf("%d", ans);

® return 0;

}
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